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SSP: Settlement Starting Process

St t d C h t BDI: Bus Data Interface
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Features to be tested
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Features to be tested
Terminal System
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Features to be tested

Settlement System
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Features not to be tested
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Test Identification
(Calculator Selector)
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Test Identification

(Calculator Selector)

Card_Data Input :
200001014211,B,1,966900,0_30
200001014311,B,0,966900,0_31
Terminal_Data_Input :
200001014211,B,1,0,0_30
200001014311,B,0,0,0_31

Card_Data Input :
200001015011,B,1,963750,0_36
200001015111,B,0,963750,0_37
Terminal_Data Input :
200001015011,B,1,1050,0_36
200001015111,B,0,0,0_37

Card_Data Input :
200001011111,T,0,983200,0_8
200001011111,T,1,982150,0_9
Terminal_Data Input :
200001010411,B,0,0,0_46
200001010511,M,1,0,1_63

Card_Data Input :
200001014611,B,0,966900,0_31
200001014711,B,1,965850,0_32
Terminal_Data Input :
200001014611,B,0,0,0_31
200001014711,B,1,1050,0_32

TEAM1_PTS 0 000 000 2.1.1.1.1 Calculator Selector

TEAM1_PTS_0_000 001 2.1.1.1.1 Calculator Selector

TEAM1_PTS_0_000 002 2.1.1.1.1 Calculator Selector

TEAM1_PTS_0_000 003  2.1.1.1.1 Calculator Selector
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Test Identification

(Calculator Selector)

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID = 0,

ecd.time1l = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS_0_001_000 2.1.1.2 Cal_Bus_On_Standard ecd.c_time = 200001011530, ecd,transportation = B,

ecd.transportation1 = B, ecd.count = 5,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID = 0,
ecd.time1 = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS 0 _001_001 2.1.1.2 Cal_Bus_On_Standard ecd.c_time = 201002011530, ecd,transportation = B,
ecd.transportation1 = B, ecd.count = 5,
etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 8000, ecd.Terminal_ID = 3,

ecd.timel = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS_0_002_000 2.1.1.3 Cal_Bus_On_Transfer ecd.c_time = 200001011530, ecd,transportation = M, ecd.transportation1

= M, ecd.count = 4, etd.transportation = B,

etd.Terminal_ID = 0, etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID = 3,

ecd.time1 = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS_0_003_000 2.1.1.4 Cal_Bus_On_Unchecked ecd.c_time = 200001021530, ecd,transportation = B,

ecd.transportation1 = M, ecd.count = 5,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID = 3,
ecd.time1 = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS 0 003 001 2.1.1.4 Cal_Bus_On_Unchecked ecd.c_time = 200001011530, ecd,transportation = M,
ecd.transportation1 = M, ecd.count = 5,
etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1



Test Identification
(Controller)
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Test Identification

(Controller)
et | eoureproces D) | Veld/ _vae

TEAM1_PTS_0_011_000
TEAM1_PTS_0_011_001
TEAM1_PTS_0_011_002
TEAM1_PTS_0_011_003
TEAM1_PTS_0_011_004
TEAM1_PTS_0_011_005
TEAM1_PTS_0_012_000
TEAM1_PTS_0_012_001

TEAM1_PTS_0_013_000

TEAM1_PTS_0_013_001

TEAM1_PTS_0_014_000
TEAM1_PTS_0_014_001
TEAM1_PTS_0_015_000
TEAM1_PTS_0_015_001
TEAM1_PTS_0_016_000
TEAM1_PTS_0_016_001

2.1.2 Controller
2.1.2 Controller
2.1.2 Controller
2.1.2 Controller
2.1.2 Controller
2.1.2 Controller
2.1.3 Check Settlement
2.1.3 Check Settlement

2.1.4 Terminal Record

2.1.4 Terminal Record

2.1.6 Print Result
2.1.6 Print Result
2.1.7 Print Warning
2.1.7 Print Warning
2.1.8 Check Card
2.1.8 Check Card

Data Input : hour == 0 && minute ==
Data Input : hour == 0 && minute != 0
Data Input : hour != 0 && minute ==
Data Input : hour != 0 && minute != 0
3000

Data Input : cd.Calculated_Balance
Data Input : cd.Calculated_Balance = -1000
Data Input : ‘g4t &HRE|RACHE OHY

o
Data Input : ‘g4t HRE|QACHE mtY EXYSHX| &S

g

H

Data Input : cd.time = 201411210500, cd.transportation = B, cd.on_board
= 1, cd.fee = 500, cd.Terminal_ID = 0, cd.count = 2

Data Input cd.time = 201411210530, cd.transportation = M,
cd.on_board = 0, cd.fee = 500, cd.Terminal ID = 3, cd.count = 1

Data Input : cd.fee = 100, cd.Calculated_Balance = 500
Data Input : cd.fee = 200, cd.Calculated_Balance = -100
Data Input : cd.fee = 250, cd.Calculated_Balance = 400
Data Input : cd.fee = 300, cd.Calculated_Balance = -200
Data Input : cd.fee = 700, cd.Calculated_Balance = 0
Data Input : cd.fee = 150, cd.Calculated_Balance = -50
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Test Identification

[ J
(TimeChecker)

TEAM1_PTS_1.000_000 2.1 Time_Checker time = “201411200000” Input
TEAM1_PTS_1.000_001 2.1 Time_Checker time = “201411200100” Input
TEAM1_PTS_1_000_ 002 2.1 Time_Checker time = “201411200008" Input
TEAM1_PTS_1._000_003 2.1 Time_Checker time = “201411200108" Input
TEAM1_PTS_1_001_000 2.2 Wait Enable Input
TEAM1_PTS_1.001_001 2.2 Wait Disable Input

trigger , Stack ED={
201411200008, M, 1, 1050
23 201411200400, B, 1. 1050
Settlement_Starting_Process 201411200440, B. 0. 0
201411200600, B, 1, 1050
201411200800, B, 0, 0 } Input

trigger , Stack ED={
Fing 201411200008, M, 1, 1050
ey B %
Settlement_Starting_Process 201411200440, B. 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300} Input

trigger , Stack ED={

201411200400, B, 1, 1050

e 80

y Settlement_Starting_Process 201411200600 M., 0, 300
201411200640, B, 1, 0

Find 201411201448, B, 0, 2

—
LB B B &N B B §B B B _§ |

TEAM1_PTS_1_002_000

Compan
P TEAM1_PTS_1_002_001

icted A
" Terminald!la /

= Sngy

i
i

TEAM1_PTS_1_002_002
Company
lnt;':m 00} Input
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Test Identification

[ J
(TimeChecker)

trigger , Stack ED={ 201411200016, M, 1, 1050
201411200040, M, 0, 200

201411200232, B, 1, 0

201411201224, B, 0, 200

201411201400, M, 1, 0

201411201408, M, 0, 600

201411201416, B, 1, 0

201411201824, B, 0, 200} Input

trigger , Stack ED={
201411200016, B, 1, 1050
201411200216, B, 0,0
TEAM1_PTS_1_002_004 2.3 Settlement_Starting_Process 201411200616, B, 1, 1050
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, 0} Input

trigger , Stack ED={
201411200016, M, 1, 1050
201411200216, M, 0,0
TEAM1_PTS_1_002_005 2.3 Settlement_Starting_Process 201411200616, M, 1, 1050
201411200624, M, 0, O
201411200632, M, 1, 1050
201411200640, M, 0, 0} Input

trigger , Stack ED={
201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0} Input

trigger , Stack ED={
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0} Input

TEAM1_PTS_1_002_003 2.3 Settlement_Starting_Process

TEAM1_PTS_1_002_006 2.3 Settlement_Starting_Process

TEAM1_PTS_1_002_007 2.3 Settlement_Starting_Process
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Test Case Specification
(Calculator Selector)

Tiek{ Tiek{
time?'s date - imef s dte =<0 fime2' date - timef s date =0
86 vansporiaion=='f 68 O & transportation==H
on board == fale && tme2. 88 on o == flse

T i 15]

B8 et o5

o ]
I/ tgerCal ek On

Cal Bus On : | Cal Metro
A dsth Wat
On trangfr

standard

QORI L J‘
)
4 v
¥ A
A % \
ORI %”'@‘/’
AR 0
‘\\Gb//\” s A
) q\ T /f~6 ) 9/
g Iy e ot Rikadte dato AX
&Y me2 s date - imet s oate == sl %,
& (8 tnsporefon==11 84 bt SN
on board e G o % 8 h
trasponafondlefrasportation) 0
time2'sdate - kime1's date 1= 0

I tigger Ca B On wcheek

Cal Metro On
standard

AN

Unchecked

TEAM1_PTS_0_000_000

TEAM1_PTS_0_000_001

TEAM1_PTS_0_000_002

TEAM1_PTS_0_000_003

Card_Data Input :
200001014211,B,1,966900,0_30
200001014311,B,0,966900,0_31
Terminal_Data_Input :
200001014211,B,1,0,0_30
200001014311,B,0,0,0_31

Card_Data Input :
200001015011,B,1,963750,0_36
200001015111,B,0,963750,0_37
Terminal_Data Input :
200001015011,B,1,1050,0_36
200001015111,B,0,0,0_37

Card_Data Input :
200001011111,T,0,983200,0_8
200001011111,T,1,982150,0_9
Terminal_Data Input :
200001010411,B,0,0,0_46
200001010511,M,1,0,1_63

Card_Data Input :
200001014611,B,0,966900,0_31
200001014711,B,1,965850,0_32
Terminal_Data Input :
200001014611,B,0,0,0_31
200001014711,B,1,1050,0_32

Test Case Identifier Input Specification Output Specification

Cal_Bus_On_Standard() &

Cal_Bus_On_Standard() &

ofm{ 3+ &t

[

Y

o

&|x| 48

+

Cal_Bus_Off Standard() &3
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Test Case Specification

(Calculator Selector)

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID cd.time = 200001011530,

= 0, ecd.timel1 = 200001011115, ecd.time2 = 200001011111, cd.transportation = B, cd.on_board = 1,
TEAM1_PTS_0_001_000 ecd.c_time = 200001011530, ecd,transportation = B, cd.balance = 10000, cd.fee = 1050,

ecd.transportation1 = B, ecd.count = 5, cd.Calculated_Balance = 8950,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1 cd.Terminal_ID = 0, cd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID
= 0, ecd.time1 = 200001011115, ecd.time2 = 200001011111,
TEAM1_PTS_0_001_001 ecd.c_time = 201002011530, ecd,transportation = B, Calculated DataZ| M/ dE|X| %S
ecd.transportation1 = B, ecd.count = 5,
etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 8000, ecd.Terminal_ID cd.time = 200001011530,

= 3, ecd.time1 = 200001011115, ecd.time2 = 200001011111, cd.transportation = B, cd.on_board = 1,
TEAM1_PTS_0_002_000 ecd.c_time = 200001011530,  ecd,transportation = M, cd.balance = 8000, cd.fee = 0,

ecd.transportation1 = M, ecd.count = 4, etd.transportation = B, cd.Calculated_Balance = 8000,

etd.Terminal_ID = 0, etd.count = 1 cd.Terminal_ID = 0, cd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID cd.time = 200001021530,

= 3, ecd.timel1 = 200001011115, ecd.time2 = 200001011111, cd.transportation = B, cd.on_board = 1,
TEAM1_PTS_0_003_000 ecd.c_time = 200001021530, ecd,transportation = B, cd.balance = 10000, cd.fee = 700,

ecd.transportation1 = M, ecd.count = 5, cd.Calculated_Balance = 9300,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1 cd.Terminal_ID = 0, cd.count = 1

Data Input : ecd.on_board = 0, ecd.balance = 10000, ecd.Terminal_ID cd.time = 200001011530,

= 3, ecd.time1 = 200001011115, ecd.time2 = 200001011111, cd.transportation = B, cd.on_board = 1,
TEAM1_PTS_0_003_001 ecd.c_time = 200001011530, ecd,transportation = M, cd.balance = 10000, cd.fee = 700,

ecd.transportation1 = M, ecd.count = 5, cd.Calculated_Balance = 9300,

etd.transportation = B, etd.Terminal_ID = 0, etd.count = 1 cd.Terminal_ID = 0, cd.count = 1



Test Case Specification

(Controller)

Enable “Wait”

Tick [Calculated Balance >= 0]
/ Disable “Wait"
Trigger Print Result
Trigger Check Card

Wait

Tick [Calculated Balance < 0]
Disable “wait"

Trigger Terminal Record

Tick
/ Enable “Wait"

Print Result
& Check Card
&
Terminal Record

Tick [Time % 180 == 0] /
/ Disable "Wait"
Trigger Check Settlement

Y

/ Trigger Print Warning

/ Enable “Wait"
Display Data (Wait)

Print
Warning

Tick [Time% 180 == 3]
/ Enable “Wait"

Check
Settlement
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Test Case Specification

Test Case Identifier Input Specification Output Specification

TEAM1_PTS_0 011 000 Data Input : hour == 0 && minute == Check_Settlement() &34
TEAM1_PTS 0 011_001 Data Input : hour == 0 && minute != 0 Wait() &%
TEAM1_PTS_0 011_002 Data Input : hour != 0 && minute == 0 Wait() &3
TEAM1_PTS_0 011 003 Data Input : hour != 0 && minute != 0 Wait() &3
. . Terminal_Record(), Print_Result(),

TEAM1_PTS_0 011004 Data Input : cd.Calculated_Balance = 3000 Check Card() 13
TEAM1_PTS_0_011_005 Data Input : cd.Calculated_Balance = -1000 Print_Warning() &3
TEAM1_PTS 0 012 000 Data Input : M4 b2 E|QICH= fd =X rad.reset = 1
TEAM1_PTS 0 012_001 Data Input : 4t 22 E|QICHE THY =XY5IX| %2 rad.reset = 0

Data Input : cd.time = 201411210500, cd.transportation = B, pd.time = 201411210500,

TEAM1_PTS 0 013_000 pd.transportation = B, pd.on_board = 1,

pd.fee = 500, pd.Terminal_ID = 0, pd.count
pd.time = 201411210530,
pd.transportation = M, pd.on_board = 0,
pd.fee = 500, pd.Terminal_ID = 3, pd.count

cd.on_board = 1, cd.fee = 500, cd.Terminal ID = 0, cd.count = 2

1
N

Data Input : cd.time = 201411210530, cd.transportation = M,

IEAMISRISE0L01E2001 cd.on_board = 0, cd.fee = 500, cd.Terminal ID = 3, cd.count = 1

1
-

TEAM1_PTS_0_014_000 Data Input : cd.fee = 100, cd.Calculated_Balance = 500 525 1L
Balance = 500
TEAM1_PTS_0_014 001 Data Input : cd.fee = 200, cd.Calculated_Balance = -100 Display Data M/dE|X| 2%
TEAM1_PTS_0 015 000 Data Input : cd.fee = 250, cd.Calculated_Balance = 400 Display Data MM E|X| 242
TEAM1_PTS_0 015 001 Data Input : cd.fee = 300, cd.Calculated_Balance = -200 “Ztejo| BEgL|CL”
ucd.time = 201411210500, ucd.transportation = B
TEAM1 _PTS 0 016_000 Data Input : cd.fee = 700, cd.Calculated_Balance = 0 ucd.on_board = 1, ucd.balance= 0,
ucd.Terminal_ID = 0, ucd.count = 3;
TEAM1_PTS 0 016_001 Data Input : cd.fee = 150, cd.Calculated_Balance = -50 Updated Card Data Y E|X| %S
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Settlement Start

TEAM1_PTS_1_000_000 time

“201411200000” Input

Process(), Wait() &

TEAM1_PTS_1_000_001 time = “201411200100” Input  Wait() &%
. _u " H Ala"
Enable “Wait’ TEAM1_PTS_1_000_002 time = “201411200008" Input  Wait() Ej
TEAM1_PTS_1_000 003 time = “201411200108” Input ~ Wait() &%
TEAM1_PTS_1_001_000 Enable Input Hold=true(1) Output
TEAM1_PTS_1_001_001 Disable Input Hold=false(0) Output
trigger , Stack ED={
201411200008, M, 1, 1050 SF = {
201411200124, M, 0, 400 201411200800,
TEAM1_PTS_1_002_000 201411200400, B, 1, 1050 201411200124, 2100,
A 201411200440, B, 0, 0 1400
ol Time 0 180) == , 201411200600, B, 1, 1050 }Output
Tick HD'meblm 13\,0‘ 0 Tick 201411200800, B, 0, 0 } Input i
/ Disable "Walt / Enable "Wait" trigger , Stack ED={

Trigger Settlement Starting Process 201411200008, M, 1, 1050 SF = {

201411200124, M. 0, 400 201411200440,
V TEAM1_PTS_1.002 001 201411200400, B, 1, 1050 201411200600, 591,
201411200440, B, 0. 0 2209
201411200504, M, 1, 0 }Output
Settlement Starting 39‘4"2‘;‘:60"(";";" ?' 300} Input
ri er, acC =
Process 201411200400, B, 1. 1050 SF = {
201411200440, B, 0. 0 201411201448,
TEAM1_PTS_1.002 002 201411200504, M, 1, 0 201411200600, 976,
201411200600, M. 0, 300 574
201411200640, B, 1, 0 }Output
201411201448, B, 0, 200} Input



Test Case Specification
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trigger , Stack ED={ 201411200016, M, 1, 1050

TEAM1_PTS_1_002_003

TEAM1_PTS_1_002_004

TEAM1_PTS_1_002_005

TEAM1_PTS_1_002_006

TEAM1_PTS_1_002_007

201411200040, M, 0, 200
201411200232, B, 1, 0
201411201224, B, 0, 200
201411201400, M, 1, 0
201411201408, M, 0, 600
201411201416, B, 1, 0

201411201824, B, 0, 200} Input

trigger , Stack ED={
201411200016, B, 1, 1050
201411200216, B, 0 ,0
201411200616, B, 1, 1050
201411200624, B, 0, 0
201411200632, B, 1, 1050
201411200640, B, 0, 0} Input

trigger , Stack ED={
201411200016, M, 1, 1050
201411200216, M, 0,0
201411200616, M, 1, 1050
201411200624, M, 0, 0
201411200632, M, 1, 1050
201411200640, M, 0, 0} Input

trigger , Stack ED={
201411200008, M, 1, 1050
201411200124, M, 0, 400
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0} Input

trigger , Stack ED={
201411200400, B, 1, 1050
201411200440, B, 0, 0
201411200504, M, 1, 0
201411200600, M, 0, 300
201411200640, B, 1, 0} Input

SF = {

201411201824, 201411201408, 1042,
1408

}Output

SF = {
201411200640, NULL, 3150, NULL
}Output

SF = {
NULL, 201411200640, NULL, 3150
}Output

SF = {

201411200440, 201411200504, 1050,
1450

}Output

SF = {

201411200640, 201411200600, 591,
759

}Output
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